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O1n =l 300
oAM= 7Y 60,0002 x5H 300
02 2524l 58,000 23,000 35,000
OZ=22=Z A A 42,000,000 42,000
OAZH| 8,000,000& 8,000
OAEZEHl S Xl 8,000,000 8,000
207 914 2yl 315,000 215,000 100,000
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03 A& & 11HI 30,000 25,000 5,000
ONSHH XI, HtOlAAZE Al2F S 30,000,000 30,000
HOHE GEE U AGA 2Y(2X) 18,800 14,800 4,000
- 9,400
Al 9,400
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Al 5,350
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Al 5,350
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Al 120,000
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Al 10,000
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Al 206,583
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101 @14l 22,018 25,000 A2,982
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206 M = Hl 5,000 5,000 0
01 X2 bl 5,000 5,000 0
OS99 3L 2= 5,000,000 5,000
207 A O Y| 15,000 15,000 0
03 A& FH| 15,000 15,000 0
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o JlE=2 48,2403 *2H x190 18,332
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201 et A | 4,300 3,600 700
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[ DRVl 300
o Mg=E P2 300,000& 300
02 =294l 4,000 3,200 800
OAl& &H KX Y| 4,000,000 4,000
206 24 50,000 50,000 0
01 M= bl 50,000 50,000 0
ORc2a Hedsg 28 7Y 50,000,000& 50,000
207 &7 2l 10,000 10,000 0
FREEETI 10,000 10,000 0
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202 4l 1,000 0 1,000
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Al 500
01 S LHOIYI 1,000 0 1,000
ONZ X AE Ol S AL 284 THHH Al A El
1,000,000 1,000
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Al 500
301 et a3z 1,000 0 1,000
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Al 500
09 #HALAHIZB &S 1,000 0 1,000
ONZT &2 0lSA LHTHHHAIAE
1,000,000& 1,000
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Al 500
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Al 307,600
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O2E==EH| 5,100
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o NEARA i HUSE 2,700,000& 2,700
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OZ=22=2 A A 20,000,000& 20,000
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OA & EH R X 10,000, 000& 10,000
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206 = Hl 3,000 5,000 22,000
01 MHZ 4l 3,000 5,000 A 2,000
Os4&2 I3 WUE Hatl 3,000,000& 3,000
301 gt a= 7,000 7,000 0
09 HALAHIEAS 2,000 2,000 0
Os42 D3 W=s 4854 24 2,000,000 2,000
11IIEtEA S 5,000 5,000 0
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307 glz2tol & 10,000 0 10,000
05 BIZHRIE 3 10,000 0 10,000
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10,000, 000& 10,000
s34 i EEHAH = 9,000 10,000 21,000
202 odl 1,000 2,000 21,000
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Od&X & =ets #X o 1,000, 000& 1,000
301 L2 L= 8,000 8,000 0
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301 L2 Az 2,000 1,000 1,000
09 HALAHIEA S 2,000 1,000 1,000
O0b & =sgel S84 2,000,000& 2,000
307 glz2tol & 20,000 20,000 0
05 RIZHRI & 3 20,000 20,000 0
Ot Z2g=sgel AsnN=s 20,000,000& 20,000
TapgllesE2a2(8x) 40,000 0 40,000
= 12,500
Al 27,500
402 RI2EXt20l ™ 40,000 0 40,000
< 12,500
Al 27,500
01 A=A EX 40,000 0 40,000
OLA2 I3 X& 40,000,000& 40,000
< 12,500
Al 27,500
32 2 HOMNE A2 JISAE SEIMNSE A (2 100,000 0 100,000
z)
= 50,000
Al 50,000
402 RIZEX20l A 100,000 0 100,000
= 50,000
Al 50,000
01 It 2 AL B X 100,000 0 100,000
OZF & ZONF L2782 H3AE SEME
AE 100,000, 000& 100,000
= 50,000
Al 50,000
DAS NYEM HYsd E4(BX) 100,000 0 100,000
Xl 50,000




2N JlsE2ad

g SASTHENE

ol ML II=ES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 50,000

402 RI2EX20| A 100,000 0 100,000
X 50,000
Al 50,000

01 It 2 ALHE X 100,000 0 100,000
O=s=2Hiel 2433 AldY 100,000, 000& 100,000
Xl 50,000
Al 50,000

NS AESE s48 I8 B3 NA(BX) 60,000 0 60,000
Xl 30,000
Al 30,000

201 et 20,000 0 20,000
Xl 10,000
Al 10,000

01 At 22l 20,000 0 20,000
OB =+=EH| 20,000

0 SAEINT JEEE ALEX

20,000,000& 20,000
Xl 10,000
Al 10,000

206 T 24 3,000 0 3,000
X 1,500
Al 1,500

01 M= 4l 3,000 0 3,000
O=s430t3 JIls2= ME+2 3,000,000 3,000
Xl 1,500
Al 1,500

207 A O] 2,000 0 2,000
Xl 1,000
Al 1,000

03 A& & 224l 2,000 0 2,000
O=sAEIS Jle22 JH3AI8® 2,000,000 2,000
X 1,000
Al 1,000

405 XtAtE SHI 35,000 0 35,000
Xl 17,500
Al 17,500

01 AR ESFH S 35,000 0 35,000
OsSA3IE Jlslg FHl7g  35,000,000& 35,000
Xl 17,500
Al 17,500

S0 JIBAYY BEBAXNA(RX) 30,000 0 30,000
Xl 15,000
Al 15,000

402 RIZER20l A 30,000 0 30,000
Xl 15,000




FM: =2
M sASHENE
ol ML II=ES (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 15,000
01 It 2 AL E X 30,000 0 30,000
OO0 Mg S2ea N
30,000, 000& 30,000
Xl 15,000
Al 15,000
HH2LZH (OlsE22 ) 27,000 28,200 A1,200
JlgZdl(0le23) 27,000 28,200 A1,200
Jl2dul(ole221) 27,000 28,200 A 1,200
202 O4dl 22,800 24,000 A 1,200
01 = LHA YI 22,800 24,000 A 1,200
OZE=Z 0l 100,000& =19 »12& 22,800
203 YR =&t 4,200 4,200 0
04 FN2IELRZ=TH| 4,200 4,200 0
Ol 350,000& »12& 4,200




